Question 1: Evidence 1
fruitlist=["apple","kiwi","orange"]
append.fruitlist("bananna")
print(fruitlist)
Question2: Evidence 2
vegetablelist=["cucomber",”tomato","green”,”pepper"]
range=(10)
print(vegtablelist)
Question 3: Evidence 3
cities=["new york","paris","madrid","amman"]
cities(4)
append.cities("london")
cities[1]="dubai"
del cities[3]
print(cities[2])
print("amman")
printlength("amman")
print(cities)
Question 3: Evidence 4
the name tunis is not defined 
Because there are only 4 elements with tunis it will become 5 elements not 7

